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(b) State and prove Wilson's theorem. (b) Form an equation whose roots are |
sec man Wm\ sec L] . Hence show |
UNIT - 1 SSec— 7
. n 3n 5n
3. (a) Solve the following set of congruences 2x =3 SeCT Fsec—-+ sec 2N 4.

(mod 5), 4x =2 (mod 6), 3x =2 (mod 7).
6. (a) If z; and z, be complex quantities, show that
(b) Let m and n be positive integers. If every prime

. 21+ 2y s
o . .« . — ) s .
divisor of n is a preme divisor of m, then () ©08 7+cosz, =2cos NmOmm

d(mn)=n o(m).

3tan z —- tan> Zq

(ii) tan 3z, = 3
1-3 tan” z;

4. (a) If f(n)= M tﬁv%mm@ for every the integer n,
/e (b) If tan(0+ip)=sin (x +cy), prove that cotly

theng (n)= > f(d) sin h?% ¢ = cot x sin 20 .
d/n
UNIT - IV

(b) If p#3 is an odd prime, show that
7. (a) Resolve the following into real and Imaginn

1 if p=+1 12
Bl T £ p=dl (moidid) parts
p 1 if p=+5 (mod12)

(1) log cos(x+1y)

UNIT -1l
5. (a) Show that the roots of (1+x%)=i(1-x)3 are (i) log (1-c)
s (4r+1)n
¥=ifan 12 ,where 7=0,1,2. (b) Separate S:LQLS into real and imaginary

parts.

(2) (3) P.T.O.




